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QUESTION 1

Which one of the following does SnapRestore revert? 

A. Snapshot schedules 

B. Volume option settings 

C. RAID group size 

D. File content 

Correct Answer: D 

 

QUESTION 2

In a Fabric Attached MetroCluster, a "disaster" is described as a: 

A. Failure of the Inter-Switch-Links (ISL) 

B. Malfunction of the Fiber Channel adapter on the cluster node 

C. Failure of the interconnect cable 

D. Prolonged communication disruption 

Correct Answer: D 

 

QUESTION 3

In cluster takeover mode, the shared interface assumes the identity of the: 

A. local interface only 

B. failed partner interface only 

C. local and failed partner interfaces 

D. None of the above 

Correct Answer: C 

 

QUESTION 4

What is the maximum distance between a standard clustered pair? 

A. 10 meters 

B. 50 meters 
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C. 100 meters 

D. 500 meters 

Correct Answer: D 

 

QUESTION 5

Identify the two commands that could be entered on a system with a SnapMirror source. (Choose two.) 

A. snapmirror update 

B. snapmirror status 

C. snapmirror initialize 

D. optionssnapmirror.access all 

Correct Answer: BD 
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